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RA-276 Indian Economy (DGEI) X (CBCS)

Time: One Hour Max. Marks: 40

Instruction:
Attempt All Questions.

1 Which of the following characteristic of capitalist economy?

ATSaeAvITar STYAaed=T JTorses Frar ?
(A)Profit is the main object (B)Service is preferred instead (C)Wealth Decentralization (D)No competition in economy
T & qT eI of profit HI I fasaer T FTET THT
TR UGS HIAT AT

2 Which of the following economy have public ownership on the resources of production. ETeTTeTa el FTCHT STTHTEIH
(A)capitalist economy (B)socialist economy (C)Open Economy (D)closed economy
3 Which economy have joint ownership on the sources of production .

(A)capitalist economy (B)socialist economy (C)mixed economy (D)Open Economy
4 There is no interference of government in the economy is called as------------

STEAT=AT 31 T EETa T TH AT AN AT ... ITHTEIT FEOTATd
(A)capitalist economy (B)socialist economy (C)mixed economy (D)Open Economy

5 Which country have largest population in the world?

(A)India (B)China (C)Indonesia (D)Brazil
Bl EIGH gSEfET EIEI

6 India's total population as per 2011 census is---------
2011 =T TATUETEN. ATAET ATREEAT ... e,

(A)136 CR (B)149 CR (C)142 CR (D)121 CR
136 Fer 149 FET 142 FET 121 FEr

7 What is the density of Indian population , as per 2011 census .
2011 =T STTUATHN. AT ATRHGAT 91 ST Gl 318,

(A)325 (B)328 (C)382 (D)389
325 328 382 389

8 Which state of Intio, who have the largest sex ratio in India .
AT daTted [T O SFHeTe T A0 ?

(A)Maharashtra (B)Kerala (C)Karnataka (D)Bihar
TR Eac FAEw =

9 Suresh Tendulkar committee on poverty study was appointed in the year----------

(A)2004 (B)2005 (C)2006 (D)2007
2004 2005 2006 2007

10 Who introduced the minimum calories consumption concept about poverty.
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(A)Y. K.alag (B)Dandekar and roth (C)Suresh Tendulkar
T F AT HEEOS LR I AgART

11 When unemployment generated daito technological progress is called as----------
STeRT SaTar At adh T Jaad deal [T ... AT FeurdTd.

(C)technological
unemployment

SUEEXEIRY

(A)frictional unemployment (B)cyclical unemployment

TS S TEhIT T

(A)1980 (B)1962 (C)1965
1980 1962 1965
13 Which of the following factor is not related to human development concept .
(A)long and healthy life (B)Education (C)Liberty and equity
Rt St Foreror =T AT FHar
14 Who introduced Human Development Index concept firstly.
(A)Amartya Sen (B)Abhijit Sen (C)Adam Smith
T T EIGEICRSEE EELRIS DY
15 Indian economy is .........

(B)Socialist economy (C)Closed economy

e sreaeT

(A)Capitalist economy

ATSaeAvITar STeaaeIT

THTSTETET ST eaa T

(A)March 1950 (B)April 1950 (C)March 1951
a1 1950 afyer 1950 = 1951
17 Which are the main objectives objectives of 12th Five Year Plan
12 AT ST AT g S e AR 2
(AT fasre
faster development

srrva faare ELRICrC -y

18 Who is the chairman of national institution for transforming India (NITI Commission)

FeT (NITI)SETT ST<eraq T s7ard ?
(A)President (B)Prime Minister (C)Governor
TSTar TATI UEREIES
19 Which of the following factor is not related to infrastructure.
FIATATE HIUTAT Fedh AT G T 32
(A)transport (B)energy (C)education
arEqH Falr Foraror
20 Which is the low cost transport in India.
HIATAT HHT F=E =T ATadd Hordr?
(A)Air Transport (B)railway transport (C)water transport
EIEKICEED T AETH ST ATETH
21 Which of the following sources of energy is traditional ?

9911C52A6916B06BDB9874EB7FEB4514

(B)sustainable development  (C)more inclusive and growth

(D)Dhananjay Gadgil
CEE R R )

(D)under unemployment

FHT T AR

(D)1972
1972

(D)Standard of living

TEUHET qTdest

(D)Robins
MG

(D)Mixed economy

EEEPEELDIE

(D)March 1949
HE 1949

(D)all of the above
TOA qT

(D)Chief minister

qAHAT

(D)production
JcqraT

(D)Road Transport
T AT d S



(A)Atomic energy (B)Electricity (C)Gas (D)Coal
ATHAT arT K F AT

22 In which year power Commission established in India.
TS ST AT ST FET HTeAT?

(A)1962 (B)1968 (C)1970 (D)1965
1962 1968 1970 1965

23 In which year new economic policy was declared in India.

WTATe FIUTCAT a9 A AT S0 ST ST 3T ?

(A)1981 (B)1990 (C)1991 (D)2001
1981 1990 1991 2001

24 Liberalization means.......
JEEHIIT T ...

(A)Free trade (B)Restrictions on trade (C)Restrictions of private (D)None of the above
AT AT AT faer sector O A

T @A faer

25 Which of the following parameter related to Globalisation .
FTATATH ARTIARIFO e HI0T

(A)Free flow of goods and (B)Free flow of capital (C)Free flow of Technology (D)AIl of the above
services ST o TaTE AT & TaTE EREEETNCE
TE] T AT T TR

26 F.D.I means........
FDI ¥ -

(A)Foreign direct investment  (B)Foreign domestic (C)Foreign democracy (D)None of the above
gt faesir qaaus investment investment FOAdE AT

et ot e ferersir efreharar geaos

27 Which is the following objectives is not related to planning in India.

FTATAT A AT RAE F0d IFES ATar?

(A)Maximum production (B)To create full employment (C)Balanced development (D)Maximum profit
28 In which year in NITI commission is established.

FrefT ST ST ForesT At S
(A)1 Jan 2015 (B)1 Jan 2016 (C)1 Jan 2017 (D)1 Jan 2018

1 STHETr 2015 1 SETT 2016 1 SETT 2017 1 SETr 2018
29 Find out the odd option .
(A)solar energy (B)wind energy (C)coal energy (D)water energy

30 Which of the following factor is not responsible for the farmers suicides in India . BTSN VAT Hed TRATATT
IAFT=AT ATHE AT TG ATEr?

(A)Low agricultural productivity (B) Continuous drought (C)Less irrigation facilities (D)Agricultural subsidies
FNT IeqEHAT qAT TS fer== glaui=r snmT FYT AT

31 Indian economy is ........

HIATATeT STeaeT ... e
(A)Agri oriented (B)Industry oriented (C)Technology oriented (D)Knowledge oriented

T ST & ST s TR
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32 Which is the period of 12th Five Year Plan in India.

(A)2010-2015 (B)2017-2022 (C)2012-2017 (D)2002-2007
2010-2015 2017-2022 2012-2017 2002-2007
33 Which is the benefit of industrialization.
TR IS FOTT?
(A)increase national income  (B)increase employment (C)regional balanced (D)all of the above
T T 1€ HI0T TSI aTegor development T T
T FHdare (A

34 Which of the following state related to highest number of farmers suicides in India. BT FHUTAT TSATT Idh =41
SATCHE AT FaT & AR ?
(A)Madhya Pradesh (B)Bihar (C)Telangana state (D)Maharashtra

(A)lack of modern technology (B)Fuel problem (C)without ticket passengers  (D)all of the above
ATYAF TATEET AT YT qHET e yamEr U a9

36 In 2014-15 what was share of service sector in India's GDP.
A 2014-15 TAW B 9T JeT—T1d HaT &==T q1eT ... &dr

(A)50.4 % (B)52.52% (C)53.04% (D)42.7%
50.4 % 52.52% 53.04% 42.7%

37 Which of the following is element of infrastructure.

AT BTG Jeleddl A0 g2 Jaqra?

(A)Agriculture (B) Industry (C)Transport and energy (D)None of the above
ST T AR AT Tl T AT

38 In which form does foreign capital is obtained to India.
WaTa faas Wieae flvredT EaE9Td ITeT & ?

(A)Multinational corporation (B)Direct foreign investment  (C)Collaboration of Indian and (D)AIl of the above

agrrg'jv FIre TR e LD ﬁ%}ﬁw foreign government AT G
T J AT (s ava
RIRIRCECIRIE
39 Which of the following is not a characteristics of Indian economy.
FTATATE HIUTT T ST IT9rse=r T4,
(A)Low per capita income (B)Increasing population (C)Poverty and unemployment (D)Low dependency on
FAT TS IoT~ FTEaT AHEEET ke T FET agriculture sector
S[AT A ATTNA HATA T HAT

40 Which of the following causes is related to agri. prices fluctuation .
(A)Climate changes (B)Changes in demand-supply (C)Government policy (D)AIl of the above
EATHETIT T8 HOTUT P T a5 SECICICIAY T a9
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